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GENERAL SCIENCE SSC-li
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section—A Is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use iead pencil.

Q.1 Circie the correct optioni.e. A/ B/ C/D. Each part carries one mark.

{i) Protein converted in Amino acid with the help of enzyme is called:

A Diastase B. Pepsin C. Lipases D. All of these
(ii) The shape of R.B.C is:

A Oblong B. Rod like C. Irregular D. Circular
(il During plastic recycling, the plastic waste is converted into small:

A Balls B. Pellets ‘C. Sheets D. Strips
{iv) Night blindness is caused due to the deficiency of vitamin:

A K B. B C. E D. A
v) is the richest food with respect to calories per 100 grams.

A Meat B. Dry fruit C. Cow milk D. Wheat
(vi) Adrenal glands are located on the:

A. Heart B. Kidneys C. Brain D. Intestine
(vii) Carbon monoxide can leads to as an air pollutant.

A Global warming B. Eye diseases

C. Brain damages D. None of these
(viii) consists of highest percentage of carbon in coal.

A. Lignite B. Bituminous C. Anthracite D. Sub-bituminous
(ix) Pakistan has largest deposit of in Khewra.

A, Iron B. Copper C. Salt 0. Gypsum
x) Cusrent is used for power transmission.

A. Alternating B. Direct C. BothAandB D. None of these
(xi) In most of the transformers, a core is used.

A. Copper B. Hard Iron C. Soft Iron D. t.ead Sheets
(xii) Radio detection and ranging is done by:

A Satellites B. Laser _ C. Radar D. Optical fibre
(xii))  The number of stages of sleep which have been identified leg EEG are:

A Two B. Three C. Four D. Five
(xiv)  An Apollo space craft is placed at of a giant Saturn rocket.

A Bottom B. Top C. Middle D. Side
(xv) division of SPARCENT, Concerned with the pianning and implementation of low earth

orbit projects.

A RSA ' B. E&SS C. IR D. sC
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GENERAL SCIENCE SSC-I 3.

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required.
Write your answers neatly and legibly. ‘

EC -B( 36
Q.2  Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. {(12x3=38)
(i) What do you know about Platelets?
(ii) Write a short note on division of Labour.
(iii) What are Antibodies?
(iv) Why vitamin D is necessary for human body?
- {v) - -Discuss briefly the Thyroid gland.
(wi) Why fungicides are important for crops?
(vii) State Ohm's law. Also give its mathematical relation.
(vii)  How a galvanometer is converted into a vokmeter?
(ix) What is holograph?
(x) How X-ray machines are used at Airport security?
(xi) What is the purpose of a space shuttle?
(xii)  Give the important features of Textile industry in Pakistan.
(xiii)  What are the main objectives of Pakistan Atormic Energy Commission?
(xiv)  Draw a iabeled diagram to show the division of atmosphere into different layers.
(xv)  Give any six reasons of urbanization.
{xvi)  What are fixed resistors? ‘ o
(xvii)  Write down the steps involved in the manufacturing of sugar from sugar cane.
(xviiiy Write a short note on Ultrasound.

CTION-C { 24

Note: ' ‘Attempt ahy THREE questions. All questions carry equal marks. {3 x8 = 24)
Q.3  Explain the composition of human blood in detall. (08)
Q4 a Write a short note on CPR {Cardio-pulmonary Resuscitation) (04)
b. What is transformer? How it works? (04)

Q5 a Describe Magnetic Resonance imaging {MRI). (06)
Write a short note on Vitamin K. A (02)

Q.8 a. Describe the energy radiation and absorption in the atmosphere. (05)
Define electric current and its units. (03)
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